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2 MHSO, = H,0 +M,S 0,
e : 2 HSOr —2e = 2H* + 8,04~
2 MHSO,— 2e¢ = 2H* + M;S;0s
f 1 SO& + S+= S,0%
M;SOs + S = M,S,0;
g: AgBr + 25,08 = ([ Ag(S:0s): I’ + Br~
AgBr+2M,S,0; = M (Ag(S:0:):) + MBr
h: S0/ + 20H- = 2S0i” + H0
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M2S:07 + 2 MOHB = 2M.S0, + H:0
2 Mn** ‘+ 55,0 + 8 H:O = 2MnO7 + 10-SOi™ + 16 H*

2 MnS O + 5M:S:0s + 8 H.O = 2M MnO, + 4M:S0, + 8 H2S0,
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© Mid”" + 5e = Ma*
2= — 2e = 0%
9 Mit? + 508~ = 2 Mif* + 507 .
2.8,{% MnOr
BEH O = H.0.
3. V(0:)=112 cm®
0112 dm?® . ‘
(0 = 551 At mol 0. 005 mol
2 _
n(KMn04): 0-005 mol X"g — 0.002 mOl
M xuno,>= 0.002mol X 158 g-mol™*=0.316 g
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-1 Ba,b,m&BA, BRCuLEEEFE L BB
A= 0Ny + Dm + Dua '
b = ng— + Nas + Dcus
M = Ncgt + Dowa + Dcus
# PR R IR B

a+b—m=n, +0pa+ N~ + Npp— Neat = 0

RS R B E R ER > TERTARBHRH (a+ b ) HARCu Wil
B (m) HF DENELUBRRERERTIBNERRE > Rit

[A’]—{—[HA]_}_[B“]_{_[HBJ:(CU"'] .......................... (1)
Ksp(CuA) = ( Cut) (A”), [AfJ:K_E'I?(:&;lCJF‘JJ_A) ..................... @
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14 ZGRAMDK :
(Cut) = (A7) { 1+ o ) 4 (B) {1+ gty b ©
BORORAGR :
Coury=KREUD ¢ Ry B i g O
CCut) =/ Ksp(Cun) {1+ Roairy } +Ksp(CuB) {1+ )

i EXE%pH, Ksp XKa ERIFTE( Cu* Jo
ngao, = 0.05 dm® X 0.1 mol » dm™ =0.005 mol

Orese = 0.016 dm® X (. 15 mol- dm™ = 0. 0024 mol
FESE LA EEE naoo,= 0.005mol — 0.0024 mol =0.0026 mol ,
HC10, £ 0.1 N HHEE

V=0.0026mol/ 0.1 mol - dmn™*=0.026 dm®

>
J

E% Nucloy = D7 = Dy, = 0.0026 mol

0.0026 molx 8.314 J - mol™? - K*x293.1K
102.658 KPa

Vi, =

= 0.0617 dm®
£~ 1 HR-EERESVERNE BN EMPhBENRIEMRES
AG=—2.87% 10° J-mol™?
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—AG=n-+-F-.<E
HPn2EBRNE RERE—5TE&F 4e >

O,+ 4H* + 4e = 2H.0
fEHRAFE 60: Son=24

F = 96487 C * mol™*
1 S 1 REER > NIt

—(—2.87x10°)V-C- mol ™!
24X 96487 C-mol™!
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=1.24 Volt
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N,=2.87%x10°]

_ 2.87%x10°J- 2

X h'C'NA

_ 2.87 X 10°J X 500X 107°m
T 6.6256 X 107**J+SX2.9979 X 10°m - 57X 6.022 X10**mol "

=11.99 = 12 mol ¥F
3. WmMEERE 100m® » BE1.24 VERREREESR
1 mA x10*m2 =10A-m2
COBMENS1.24V X 10A-m™ X 100 m* = 1.24 Kw

_ My, _ 0.652¢g
Nz ™ My, 28g-mol™!

B4 250°C S > HEA ~ B~ CRIDEREAGE > IR BT 6 m K E

= 0.0233 mol

A~a. n

Ny, = N4 =0 =0Nc = nNp
) ma me
M,=— s B s ov e e
Na nDg

HF—EHEA~B~CHEDH > TEXNWEER:

A, M,x(0.937 = 35.45 gemol™

B, Me%x0.689=70.91 ge+mol™

C, M¢x0.851 =177.17 g+ mol™

D, MpXx 0.922=141.78 g-mol™

RABE—EI FRLEYF > LELDF—EXRFRAZEH > IRERFEE

BRAAKEAN35.44g-mol ' (FHE ) BLEXWERE R
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b. Lv=k(Hb)(0:), k=2.1%X10°dm® -mol™ s

(Hb J=8 X10*mol+dm™, (0:)=1.6%X10"°mol+dm™®
S v =2.688X10"°mol s dm™® - s7?
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b =1.1X 107 mol - dm™ - s~

k=2.1%Xx10°dm®.-mol™. s

(Hb) =8 X 107°mol

(0:)=6.5x10"°mol «dm™

SEELNAEMP6.5X10°mol - dm™
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AR RELUS BN H K > B R AERBSE R o

S~ BRE  hBLEXR:
1. HCOOH( aq) + Br2(aq) i COZ(g) + 2 H+( aq) + 2 Br—(aq)
2. Bro;(n.q) +5Br?aq)+6H+(aq) : 3Br2+3H20

+~ FER |
9  CH,—CO—CH, + 3C10~ = CHCI, + 20H" + CH;COO"
3 HERERETSERHENEAE:
Q=m- C - At ‘ ,
Q : REEE m: BRNEE c : BMRMER KR
At BEZE(FRBERE)
BEFEIMNEE, THES- EAREDNQE-
4. BEWEE : o
RIEY— CH.COCHs (AM % > #5B& 3mL )
A4 — CHCls , OH™ , CH:CO00~
(5 A 4 e R 3h o0 BE TR B R AB RIS W H I AL > RIKIETT AR o
FARRIEER - ROk~ BE -
5 2CIO- — O,
2mol — 1 mol =22.4 dm?®
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